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Diagram not drawn to scale

Find the size of each of the angles a, b and c.

i1 c = f~—- - c
| A o S ) \ o
A= A b=...5 ‘“\‘ ............. = QA
» (3]
p { // 7/
—ad A J¥O-123 4
j = 55
}
|
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. Every Friday for 6 weeks, the number of customers entering a sandwich shop and the takings

of the shop were recorded.
The takings were recorded correct to the nearest £10.
The table below shows the results.

Number of customers 104 82 120 64 70 118

Takings, in £ 510 420 590 320 340 560

(a) On the graph paper below, draw a scatter diagram of these results.

Takings, in £
A
600 17 I s z T
500 | ! /
A
400 AR
300 +
200 ; —
100 110 120
Number of customers
2]
(b)  Write down the type of correlation that is shown by the scatter diagram.
POSITIVE
(1]
(¢) Draw, by eye, a line of best fit on your scatter diagram.
(]
(d) Estimate the takings for a Friday when there are 90 customers.
............................................................................ BUUO
[1]
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(e) Approximately how much does a customer spend, on average, in the sandwich shop on

a Friday?
From s0-120 = 7o Se

o KZO =SS
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3. Two types of banana are available to buy, Fairtrade and non-Fairtrade. 8
Each type of banana costs 30p.
The table below shows how the 30p is shared for each type of banana.
FAIRTRADE
Non-Fairtrade Fairtrade
Grower 2p 15p
Plantation owner 5p 2p
Wholesale importer 3p 2p
Shipper 4p 3p
Ripener 4p 2p
Seller 12p 6p
Total 30p 30p
(a) Calculate the percentage of the cost of a banana that goes to the seller under
(i) non-Fairtrade, 5 23 e
= — L0 - (5
..................................................... L—L"—"———‘L{'O A < LT e
30 o i00
2]
(i) Fairtrade. :
s~ X (o .
.............................................. TN T A —
‘“(‘3 (o oo
(1]
0 6 © WIEC CBAC Ltd. (4370-05)
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(b) A newspaper report states that the Grower gets too small a proportion of the price of a o
non-Fairtrade banana. Explain, using fractions, how this has improved with the move

to producing Fairtrade bananas.
.............................. { \/Cﬂf%ém&33~.»bj(,£s;%;,.!_o(,,gcix
30 15
{‘d o LIC{(,(L VG itwer (gk{ Y = _L C’F Op
............................................................................... \)}-—-—
30

[2]

W
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4. In answering this question, you must show all your construction arcs.

Use a ruler and a pair of compasses to construct an angle of 45° at the mid-point of the straight

line below.
Label your angle 45°.

@ Drmw i)L’"P(iﬂdtc,w(aa" biseckor . This is
@ Bisect He q0° aaj"le fe Sef L,5° al m,‘d-/)cunf_

40° an e af the mr’c/ﬂcmf_
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5. You will be assessed on the quality of your written communication in this question.

Pedro has just moved to live on an island in Europe.
There is a choice of two different water companies.

Manana Water Channel Water

No Standing Charge Standing Charge: €30 every 3 months
+

Pay €0.06 per m® of water used €0.02 per m3 of water used

Special offer: 20% off your first bill

Pedro estimates that he uses 700m? of water every three months.
He wants to spend as little as possible on water.

Which company should Pedro buy his water from?

You must justify your answer by showing all possible costs.

Moneng o CGARL
...... Cosl 2 J00X 0000 sy
= Txice x 0-0b Cod = 30+ Qox0-02)
AR L
= € bt
Thismeans.... vsvally... b _is cheaper  with MaﬂcmabJCl ...... per.

"‘:mcnPkM‘d’k ........... e

.......................................................................................

less  wilh

T
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X
47° ek
IC%%
Diagram not drawn to scale
The above diagram shows three points X, Y and Z which lie on a straight line.
Calculate the bearing of
(a) Zfrom Y,
........................................... 150 "1 2 038 e
1]
(b) Xfrom Y.
; G
............................ 360 - 4T = 313 .
2]
L
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(a) Find the highest common factor of 90 and 105.
oo )
...................................... efjf)t)l'i’\um T a"‘ﬂée.\-f\ s Gy G L OGT
s S o T | e T T
=Y 15 ! Qv = I5 los = IS
................................................................................................. KJéLZ
C[Q'OS ..............................

165 x times table o5 210, 315 420, 525 1630

.................................................... 0 At 02, AR A AD T A L

......................................................................................... ol 75 o W

2]
(¢c) Express 936 as a product of prime numbers in index form. ), [ §
e B 2N
5 m
™ " )
..................................................... (Z/Lkég
..................................................................... @284
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9. A company is making cylinders to package plastic rods. =

Each cylinder is made using a rectangular piece of card and two circular pieces of metal.
The net of one of these cylinders is shown below.

2metres = 200Cm

10cm

Diagram not drawn to scale

The radius of each circular end is 10cm.

The cylinder is of length 2 metres.

Taking = 3-14, calculate the area of the rectangular piece of card.
State the units of your answer.

Lu\dH’\ O ‘tC“Lg’] o C,thu.«nFc«ngL cxi‘, U}de

1 3
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10. Rearrange the following formulae to make y the subject &

(@) JF=i=g
.............. P 1 - ——————

N | |
.................. \’)“ ;16‘1’(:

Za= (A7 backebs in (2]
Gy+w)
CF G
K(Zj\'?)) .............................. ﬁ;(l?/f\»f\‘)D .......................................................................................................................
............. %:\—“"L;\)_g}(??)_&_?’)
...................... L‘{CL+|5
I Lot i ol T Mo s FE S ——
w—-1» = 103—3’\3

w-1S = Tlu

C\,(, < s i
............................. = )
..................................................................................................................................................................................................... [4]

1 4 © WJEC CBAC Ltd. (4370-05)
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11. The diagrams show how 12 small identical rectangles can be placed to form a larger rectangle =
in two different ways.
) Diagram 1 Diagram 2
C 2 ¢ (= L
W Wi W
w W w0 (%)
[ Lww [
O w e o
C = [ w o
w Lo
c ks
Diagrams not drawn to scale
The perimeter of each of these diagrams is measured.
The perimeter of diagram 1 is 55cm.
The perimeter of diagram 2 is 50cm.
Find the dimensions of one of the 12 small identical rectangles.
..... Piagmm L o Digg@m 2
....................... GLEBR =85 . LR S SO
..... ThfseCGS”‘Wucu\ecwvkC,u(u(‘Jcﬂs
................................................................. bL+SL~-§§"ax‘g
Il 134 = 80 -é\ x 2
st +_24L¢ = 165 change sign of
gL F 240 =TI e
.............................................. ADD IO D65
............................................................................. bonnn2 65 = 6-Oem oo
(o
....... Fom . @) 5 (6:5). 280 350
PSRN (- S <% s R | G S L S
1263 = 30 ~2b
12 = 24 [5]
W = Zem
1 5 © WIEC CBAC Ltd. (4370-05) Turn over.
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12. The frequency diagrams show the lengths of telephone calls taken by two online shopping
companies one day in November.

Cat Boots UK Shoes 4 All
Frequency Frequency
\ !
200 ; : e 2()()4 : : T
| | | i |
150 : ? t ! 150 5
100 ‘ i i 100
| i jistes |
50 £ | mEER 50
N: mu = T 5 _ . : EmE _
0 5 10 15 20 0 S 10 15 20
Time, in Time, in
minutes minutes
(a) How many calls to Cat Boots UK lasted between 5 minutes and 15 minutes?
D (- <L B - I —
........................................................................ = P 205
[1]
(b) Which company had longer calls on average on this day?
Give a reason for your answer.
................................................ Cak Beots Uk  becawne the falleof. ...
............................................. bac is..... furher 1 3“’V\H\eéume>wl»
(1]
(¢) Complete the cumulative frequency table for Cat Boots UK times.
Hime s, n (<5 £ < 10 <15 1 <20
minutes o~ n T =
Cumulative 25 i25 300 360
frequency
(2]

M
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(d)  Use the graph paper below to draw a cumulative frequency diagram for the Cat Boots
UK information.

Cumulative frequency

A
400
300 .
210 PREN
20 e
100 L6l
S0
0 » Time ¢, in minutes
0 5 20
(2]
(e) Use your cumulative frequency diagram to find
() an estimate for the median time of calls to Cat Boots UK,
Medien Lo iBobh ranlk agpan 12 MIAS
[1]

(i) an estimate for the inter-quartile range of the times for calls to Cat Boots UK.
................. Lover Quortile 1. 90'th. reslk & SeSomas
TR = i4°5-8-5

~ b mins

Ly
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13. A farmer has just enough food to feed x pigs for y days.

(a) Write down an expression for the number of days the farmer could feed z pigs with the
same amount of food.

..........................................................................................

e e P Fel 2690y
D pigs Jer %5 XS days

50 oc  pigs Y doys

..... :'P‘SFO{H/’x_dG'jS[Q’]

Z  piys for 924 days
(b)  Write down an assumption you have made in answering part (a).

.............................................. Al\pw)wéfhesarne

Examin
only
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14. (a) Express ﬁ—ﬁ as a single fraction in its simplest form. o
B pelledB) = ey .
............................................................. CEZB)CICAL) oo
3 i P P
(x-3)(x+6)
................................. S
( ©- 3)(%#6)
n 3]
) ) 49x2 — 100 aclonse
(b) Slmphfy m . ') t'l eren(y © ' 7 5(‘LtCk lt’J ,
Ggives (7;( -1——!(:) on (,( iﬂ
.............................. T e L (1) O

v ‘/vh can  cancel ( 7\“(,)
....... C \-...

ez IR S U —————————————
Z
............ OR ... . BeSs

119
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15. (a) Express 0-435 as a fraction. '
..... Lﬂ(’OC=CL+°>5
.............. 'Cl=43€‘Q/§(Lu»MC‘}uJH*t
__________ 'wtl‘“b%—@,dcum(s‘rolw
SUBTRACT. (D). FOM. (2 s leatical
____________________ Gox = 431~ So whe yu sublac
. M. - 8l i Mem HW ....... cance .. each otfer
990 ‘ ot
....................................................................................................................................................................................................... [2]
1
(b) Express 100 2 as a fraction.
. s N -]
.......................................... : “/2‘(__—.
......................................... oMo O,
[1]
(¢) Giventhat f =2, g=+/5and h =10, find, in its simplest form
N/
(l) "}7’:
=i 7. . T
f2u5 = YoKs e iliB - }
b/-lg V1o ch:
........................................................................................................................................................................................ [1]
(ll) fg+hs == (s e
(/z ey A Wl
= Vo + Yo
= B 1]
(i)  fh.
........................................... Lo
_______________________________________ s 7 |« S At S
. 1]
Jaxs _
= JzJs = S

2,0
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16. The points 4 and B lie on the circumference of a circle with centre O. o

The straight lines PAQ and RBQ are tangents to the circle.

P

|
5
@)

Diagram not drawn to scale

You are given that A/Q\B = 2x, where x is measured in degrees. /jr;'l(j le 1 frranj le AOE

i ! B o
Write down the size of AOQ in terms of x. /
Give reasons in your answer.

i
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17. (a)

given by the equation v = 5¢ — 2.

Draw the graph of v =

Examine

. . . . . onl
In an experiment, it was found that the velocity, v m/s, of a particle at time 7 seconds was '

5t - t2 for values of ¢ from 0 to 5.
O

o et
t—

|

-

e
| EiEEdcEdSes SR SRR SRR GRS

() 3 4 S >
2 2

( 5"‘“) [4]
© WJEC CBAC Ltd.
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(b) A velocity-time graph for a different experiment is shown below.

Velocity, v m/s

A
. : mﬂrn}'
54— o o /‘ v 5\011.— = U
/|; HAcc =z hae

4 1
i et —

£ &
P EEEERNEEES :)2:"_ : (3) (f/

A0

0 ! - > Time, ¢ seconds
0 L . 2 23 3 )
L1

(1) Based on this experiment, complete the following sentence. [1]

"The acceleration of this particle is zero when t = a3 -

(1)) Find an appreximation for the acceleration of the particle in this experiment when
Fr=iil| f your answer.

(iii)  Find an approximation for the distance travelled by T € wym t=0and
=4, 3
t /T_ [3]
e Am under d&’hum I’f’tuté(u,
& i)

= {1 ™ Cruettat:

i
23
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